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= . Question 3: (30%, 1.5 points for each question) In the following, there
are 20 multiple-choice questions. All you have to do is to choose the cor-
rect answer from several possible answers that are listed on the end of the

|3 % B - e )

question,

1. If you knew the level of the government budget defiecit, the
tnblernational trade deficit, and the level of domestic investment,
what other piece of infarmation would he required for you te be able
to compubte private savingy
A. The level of private consumplion
0. the total ameount of taxes pald
. the lewvel of government spending
0. the level of public investment
5, none of the above, because you would already have enough

information

2. The property of the lerg-run model that is known as the classical
dichotomy is kest desscribed by the atatement:

2. rchangeas in the noney stock do aot affect long-run inflatien.

B. the determiratinr af real wariables in the meodel regquires
information ancut nominal variables.

. the determination of nominal variables in the medel requires
information abcut real variables,

0. the determinaticn of real varlables does oot reguire informaticon
about nominal wariakles, altheough the determination of nominal
variaples does require information about real variables.

E. the determination of nominal and real wvariazles doss not regquirce
information abait the nther

3. Which af the following eguations acourately describes the
relationship between b, the jobk-losing rate, €, the job-Iinding rate,
and u, the unemployment rate?

A, = = hu, B. u = be, . u= e Do b= ge, E. b= ufe,

4. Unamploymant insurance beanefits have
A, enablesd workers ko adept lengthierp search strategies.

B, allowed wor<ers Lo Iocus job searches more directly and increase
job-finding rates.

C. #faused the patural rate of unemployment ta increasze .

I'. had no effect on unemployment factors Levond the sudden losses of
income.

E. A anrd oo
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E. Whiehk of the following atatements 1s Lrue? f—
2. The apen-econcmy multiplier is smaller than the cloesed-economy 2
multiplier fu:r lovestment but larger for government spending. "

B. The open—ecencmy mulbtiplier ia amaller than the closed-econony X
muttiplier for government spending but laryer for investment. 5

L. The open-econony multiplier is smaller than the closed-ecanomy +
miltiplier for koth government spending and investment. =

. The oper-economy multiplier is larger than Lthe closed-economy H
multiplier for both gevernment spending and investment .

E. The open-economy multiplier i smaller than the closed-econcmy 3
multiplier for government spending, but Lhey are equal for ®
investneal.

B, Let a small closed sconony consist of O = a + Bb{l ™¥, T = Ts + tY,
I = I 4and G = Gy. the balanced budgel multiplier for a balanced
budget increase i goeveononent spending and autonomous taxea is
A, 1701 - bl - t)].

B. i1 = B S[1 - kil - F].
C. 1/[1 + b(1l - t£11].

. =bf11 - bil - £].

En 1-

7. Conaider a closed scenemy ia which censumption is described by
Oo= 200 + _A(1 = t)¥Y. Tat the tax rate t = .2 and I = 800, and assume
an active government sa that & = 200, 1f the Jovernment were to
balance ibts budget 1n eguilibrium by increasing the tas rate AND
decreasing its spanding, then
B, GNOEP would rlimh ahowve 55556.

B. GDF would remaln at 53356,

C. GCDP would fall kelew $3586.

L. GDF might rise or fall depending on which policy were SCLEonger.

F. consumption expendilure would eicher rise or fall depending on
whether or not the tax increase dominated the effect of climbing
GDE.

4. The slope oI an agqgregate demand curve is determined by
A, the sensitivity of Lhe demand for money to changes in the

interast rate.
B. the sengitivitv of investment to changes in the 1nterest rate.
. Lhe sensitivity of the demand for maney to changea in GDP.
. the marginal p1"np-=-r|.=n'1'y to cansume .
E. all of the above.
i # woan oM & om
ar A & i
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9. An aggregate demand curve is downward-sleping againsot prices because :E

&. the guantity demanded almost always falls as the price climbs. i

B. increases 1n the price level elfectively reduce the real money ﬁi
supply and therchy increase interest rates; lower investment, and X
cause GOP ta aantract.,

C. increases 1n the price level autcmatically increase real interest *
rates and thus reguire a contraction in GDF to maintain equality H
of supply and demand in the money market. ‘.

D. reduclions in the price level increase real GUY by the simple
algebra of dividing nominal GDP by a price leowel. :_’_F

E. ncne of the above.

10, An increase in the price level causes

A. the LM cvurve Lo shift te the fight,

B. tha IM surve to shift to the left.

=, the IS5 curve to shift to the right.

D. the I8 curve to shift Lo the left.

F. no change in an IS-LM representation of an econemy.

11. 1n the 15-LM medel, GDP will beceme more sensitive ta changes in the

supply of money if

A, dnvestment becomos leas sensitive to the interest rate,

BE. the marginal propensity to import increases.

C. the margyinal propensity to lmpert decreases,

D. net exports bkecome less sensitive te the inteoreat rate.

E. the marqginal propensity Lo consume decreaszes.

12. Cecnsider an economy With an expectations-augmented Phillips curve and
sxpactations always sct equal to last year's inflation rabte. Lel Lhe

rate of unemployment fall 1 paint halow the natural rate in 19063

before returnling Lo Lhe natural rate for the rest of the decade. It

the coasfficient linking the percentage GDP gap and inflation were .5,

then you would predict

A. a one-shot 1lncrease in inflatlon for 1993 of 1.5%.

B. a perpctual increase in inflation for 19%3 and beyond of 5%,

C. a one-shot increase in inflatisn far 1993 of S,

D. a perpetual increase in inflaticn tor 19%3 and bevend of 1.5%.

E. neone of the above,

13. sSuppnses that an economy were based in part on a Phillips curve

relaticnship that did not include an expectations term. Suppase that

the unemployment rate in 1953 were to fall 1 point below the natural

rate before returning te the natural rate for the rest of the decade.

Il the coefficlent relating the percentage GDP gap and inflation ware

A, then yeou would predist

A. & perpstual increase in the rate of inflation equal te 1.2
polnts.

BE. a onc shet incerease in the rate of inflaticn for the year 1993
equal to 1.7 points.

. 4 perpetual increase in the rate of inflation egual ta 0.4 paint.

D. a cne-shot increase in the rate of inflatiun four Lhe year 1933
equal ta 0.4 point.

E. none of the above.
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The expectations—augmented Phillips curve suggests, among other

things, that

A, an esconomy thal perpelually runs actual GDP near potential GDE
will enjoy stable and predictakle rates of inflatien in the
abpsence ol any outside shocks,

B. an econcomy that perpetually runs actual GDP 1n excess of
potential GOP will suffer year after year of successively higher
inrflation.

C. an econemy that io not willing to auffer recessien will have to
live with inflation unless it can lower inflationary expectations
sgrmeliow,

b all of the above.

E. none af the akove.

15. Suppcee an economy is described by the aggregate demand curve:
¥ = 2000+ 1.253 +.2_5%;. Tf ¥¥ = G000, 3 = 1200, and F = 1.0, what

must M ogual toe generate a 3% 30DF gap?

M. 1072
B. 1000
C. DBZ
D. 8924

E. impossible to caloulate

lo. Andd and Modigliani postulated a consumption function depending on
net only dispesakle income, but also the value of assets in which
pecple Keep their wealth. The estimated coefficient for asset valus

A, emerged 1n the neighborhood of .06-pretty close to the marginal
prepenaity te consume that the theory mighl predict for temporary
changes in income.

B, emerged in the neighborhcod of .7-a little low for the propensity

to censume that the theory would predict for permanent changes 1in

income.

smerged as expected on the basis of theory in the .05 range, but

the estimated marginal propenaity to consume out of income was a

bit low, in the .7 range.

o a and o,

E. none 2f tha above.

]

17. If permanent income were always taken te egual dispasable
inceme in the current year, then a consumptien function of the farm
Co=a + bY¥Dip) would

B. rewecal a long run marginal propensity Lu cunsume that was larger
than the short=run margina’l preopensity to censums.

B. reveal a long=run marglnal propensity to consume that was exactly
egual to the short-run marginal prepensity to consume.

C. reveal a long-run marginal propen=ity to sonsume that was emaller
Lhan Lhe short-run marginal propensity Lo consume.

0. weould define short- and long run marginal propensitlies Lu
consume, to be sure, but insufficient information has been
provided to compare Chem.

LAY ]

F.. would be difficul: te specify in bimes of uncertain income.
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1.

an.

Wwhich of the following functicns might De an appropriate
representation eof a consumptien functien that reflecta the
implicationns of rhe farward-lnooking theary af consumptison? In sach, O
represents consumption, ¥ represents income, and R represents the
interest rate expresszed in terms of a decimal Lfracllion.

- 230 «~ .71Y + 1000R.
= 420 + 1.2¥ - 1000H,
27 - 1.3Y - 100CR
= 450 + .B2¥Y = 120CGR,
= 220 = T3¥ + 153008,

me WX
N0 Onn
il

Suppose contributlons for socital insurance amounted to almost 5306
billisn, <orporate retaised esarnings egqualed S207 killiasn,
nonbluginess interest swelled te 5150 hillion, tranefer paymentsa
reached almest 5417 billion, and income taxes raised just over S435
killicon. Given this information, which of the following statements ia
an acourate ranking of national incame (NT), personal income [(PT],
and disposable personal income (LDL)Y

I, NI > PI > DI.
B. FTI > NI »» DI.
c. PI » DI > NI
., NI > DI > PI.

E. Cannot tell from the information provided.

I=m a marker where firma operate according te efficiency wage thenry,

the pnatural rate of unemployment will be higher.
. Joub-Tinding rates will be lower.

the number of jok seakers will be higher.

all of the above.

a and b.

(£ B O v =

U2 Question 4: Regarding Taiwan Macroeconomy (A%, 2 points each)

Many students who atudy macroeconomice actually show no concern over
real cconomies, including Thiwmn. But, 1 suppose that you are different and
cire a lot about Taiwaf. So, in the ollowiug, & series of questions regarding
the maerocconomie profile of Taiwan will be presented tn you. There are all
multiple-choice questions. All you have to do i3 to choose the correct answer
from several possible nuswers that are listed at the end of the question. Relax
nndd enjoy!

1.

From (he 1080a to the end of the last century, the average annual real GDF
growth rate of Taiwan was about (1) 10%-12% (2) 8%-10% (3) 6%-6% (4)
M6 [3) 2F-4%0.

. From the 10608 to the end of the last century, the average annual invest-

ment. rate of Taiwan was around (1) 2% - 7% (2) 10% - 15% (3) 20% -
25% (4) S0% - 357 (5) 40%-45%.

Thiwan is often deseribed as o trade-oriented sconomy. A measure for
that is a statistic called openness, which i the ratio of the sum of exports
and imporls o GDP. For the past four deeadea, the openness measure
of Taiwan has in general followed (1) an npward trend and is currently
about 100% (2} an upward trend and is currently abous 1509 (3) an
upward trend and is currently shout 2009 (4) a downward trened and i=
currently about 50% (5) a downward trend and is currently about 25%.
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. How many times higher was the real income per capilta, Le., the income

10,

. The annual population growlh rale of Taiwan over the past four decades

nﬁ:-;r infation, of the yeur 1998 compared with that of the vear 19617 (1)
4 times as mneh (2) 5 times as much {2) 10 times as much {4} 20 Limes as
much {3) 60 times as much,

has in general followed (1) a downward trend and is curtently about 1%
(2} & downward trend and is currently abont 5% {1} a downward trend
and is currently about 100 {4) an upward trend and s currently about
19 (3) an upward trend and is cirrently about 5%, '

The rativ ol gpvernment expenditure to GLP, which aignifies the govern-
ment’s rele in Taiwan, over the past four decades has in general followed
(1) an upward trend and ia currently about 10% {2)a downward trend and
is eurrently about 10% (3) an upward trend and 18 currently abont 20%
(4) & downward trend and is currently about 207 {5) a downward trend
and is currently about 40%.

LY aS |

According to the official records, the unemployment rates of Thiwan over
the past. few years have ranged from (1) 13% to 15% (2) 10% Lo 12% (1)
5% to 6% (4) 2% to 3% (5) U% to 19

The annual employment growth rate of Taiwan over the past two decades
has in general {1} Huctuated around 2% (2} followed an upward trend
and is currently about 4% (3] followed an upward trend and is curreotly
ahont 8% {4) followed a downward trend and is currently about 4% (6)

fAuctuated around 5%.

. The annual nominal wage growth rate of Taiwan over the lnst decade

has in general followed (1) & downward trend but is still above 5% {2) a
downward trepd and is now below 5% (3) mu upward teemd and Is now
bayond 5 % (M) an upward trend but is atill below 5% (3) none of the

above,

The sversge aooual CPT inflation rate of Taiwan over the last decade in

about (1) -29% (2) 0% (3) 2% (4) A% (5) 6%,
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